7%

2018/10/21 :Js¥ sy
N—"

3 Jalsiy Jualii 0301201 | 435051 Zaalall

_)k?)n Cmp, 5 10aladl (g yta

% 18 ol by
L —\C

'Elr_*_l-Ps-‘ﬁ 55w 0 1kl aul

o Tgraladi 801

[1] Consider the lines:

Glada 3 AUl 5 e laia) o6

Li:x=14+6t; y=3—-7t; z=2+¢

L;x=1043s; y=6+5; z=14 + 45
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a) (4 marks) Find the point of interse@fon between the two lines L; and L,.
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b) (3 marks) Find the angle between the two lines Ly and L.

Cose = ‘-QQ'VQ- =
Vandbvad
—

o= Cos

—

2 - M Ve b -T00 s

(70 [\Go) Ne=<2,1, Yo
AR 3 6+uq+!

TE=
\\n\ m“

¢) (4 marks) Find the plane containing the two lines L, and L,.
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[2] Letv = (a,b,a),u = (b,a,b).
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’ 2) (3 marks) Find 7 x % 9 ' R
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~ b) (3 marks) For what nonzero values of a and b the vectors ¥ and U are
parallel.

[3] Let L be a line passing through the point€(3, 27,7-1)\and perpendicular to the
planem: 2x —y + 2z = —3. T

a) (3 marks) Find the equation of the line L.
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b) (3 marks) Find the point of intersection between L and the plane
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[4] (3 marks) Name and sketch the surface z — 3 = /1 + x2 — y2
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;} (5] (4 marks) A surface consists of all points P(x, y, z) such'that the distance from P
to the point (0, 1, 0) is twice the distance from P to the/planefy = 1) Find an

:\ (o NT) equation for this surface and identify it. ' v
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